Key for Exam I; F4360; Spring 2005; 1:00 Class
Note:  As we have discussed several times in class, you do not have to do any calculations in answering the questions on this exam.  Rather, you should write down all equations needed to answer a question and fill in as many numbers as possible.  If a problem requires multiple steps, plug in variables from previous steps as necessary.

Example:  Step 1:  X = A + B = 1 + 3; Step 2:  Y = X/R = X/9  (Assuming you are given numbers for A, B, and R).

Short answer questions/problems

Notes:  

1)  If you write more than a couple of sentences on a short-answer question, you are likely writing too much.

2)  In answering the short-answer questions, you may need to use the attached financial statements and the additional information following PE2. 

1.  Set up (including as many numbers as possible) the calculations to determine Verizon’s inventory turnover and receivables turnover for 2003?

Set up:  
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Solve:  IT = 16.98; RT = 6.84
2.  What aspect of a company’s health do both of these ratios address (or how are these two ratios similar)?  What unique aspects of the firm do these ratios address (or how are these two ratios different)?

Both measure how efficiently the firm is using its assets, inventory turnover measures efficiency for inventory and receivables turnover measures efficiency for accounts receivable.  

3.  Assume you want to calculate Verizon’s Market Value Added.  What is the “market value” in this calculation?
The market value of the firm’s stocks and bonds (if these numbers can be determined).

4.  Assume you are calculating Verizon’s Basic EVA for 2003.  Set up (including as many numbers as possible) the calculations to determine NOPAT?

Set up:  3077 + 2797

Solve:  5874

For short-answer problems 5 and 6 below, assume you are calculating Verizon’s Harnishfeger EVA for 2003.

5.  Set up (including as many number as possible) the calculations for Current Liabilities?

Set up:  27,929 – 9267 = 12,642 + 1007 + 5013

Solve:  18,662

6.  Set up (including as many number as possible) the calculations for Operating Profit?

Set up:  67,752 – 21,783 – 24,999 – 13,617 = 67,752 – (60,258 + 141)

Solve:  7353
7.  Baylor has recently established an endowment program that will allow alumni to deposit money into an account that will pay an interest rate of 2% per year forever.  The plan will be to make annual withdrawals from the account in such a way that withdrawals can be made forever and so that the withdrawals can increase by 1% each.  Set up (including as many numbers as possible) the calculations to determine how much can be withdrawn (the first of an infinite number of withdrawals) one year from today if someone deposits $100,000 into such an account today.  

Set up:  
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Solve:  C = 1000

8.  Assume that the risk of an asset with fixed positive future cash flows rises.  How does this change impact the present value of the asset’s cash flows?

The present value drops (Not needed for answer:  as the risk rises, the required return rises, and the present value falls)

Note:  Sketch 9 and 10 on the same graph.  Be sure to clearly label which part of the graph applies to 9 and which applies to 10.

9.  Assume you are thinking about combining General Mills (cereal), SBC Communications (telecommunications), and Dana Corporation (automobile parts) into a portfolio.  General Mills has the and lowest expected return and standard deviation of returns while Dana Corporation has the highest expected return and standard deviation of returns.  Sketch a graph of all possible combinations of risk and return you could achieve by combining these thee stocks.

Description of graph:  GM is the lowest and furthest to left, Dana is the highest and furthest to right.  Possible combinations are an area that curve to the left of the 3 points.

10.  Sketch a graph and identify the expected return and standard deviation of returns you could expect to achieve if you borrow at the risk-free rate an additional $1 for every $1 you currently have to invest then invest all of these funds in a portfolio of the three stocks in 9.  Note:  Assume you want to achieve the highest possible return for any risk that you take.

Description of graph:  A line extends from the risk-free rate to the point of tangency on the answer to 9.  Your expected return and risk is a point on the graph that is to the right of the point of tangency (the distance between the intercept and the point of tangency equals the distance between the point of tangency and your point on the line).
Problems/Essays

1.  You have just made a deposit into an account paying an interest rate of 5.5% per year compounded quarterly that will allow you to make a one-time withdrawal of $100,000 three years and 2 months from today.  Alternatively, 3 years and 2 months from today, you could make the first of a series of equal annual withdrawals from the account that will continue through 12 years and 2 months from today (the date of your final withdrawal).  
a.  Set up (with as many numbers as possible) the sequence of calculations that will allow you to solve for the amount you have deposited today.  

b.  Set up (with as many numbers as possible) the sequence of calculations that will allow you to determine how much you can withdraw each year starting 3 years and 2 months from today.  
Set up:

a.  
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b.  
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Solve:
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V0 = 84,115.43

C = 12,630.58
2.  Based on the returns over the past 4 years on the S&P 500 and on Time Warner, set up the sequence of calculations (including as many numbers as possible) that would allow you to estimate Time Warner’s standard deviation of returns and beta.  (Note:  all returns are annual and are calculated from February 15th of the year listed to February 15th of the previous year).  



Return on:  

Year
Time Warner
S&P500
2005
+6
+6

2004
+52
+36

2003
-54
-23

2002
-44
-11

Set up:
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Solve:
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Additional Information from Verizon’s Financial Statements
1.  Prepaid Expenses and Other included Net Current Deferred Taxes as follows:  2003 = 1905; 2002 = 918

2.  Other Income and (Expense), Net include the following:  

 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	  
	(dollars in millions)
	 
	 
	 

	Years Ended December 31,
	  
	2003
	 
	 
	2002
	 
	 
	2001
	 
	 
	 

	

	 
	 
	 
	 
	 

	Interest income
	  
	$
	    96
	        
	 
	$
	  187
	        
	 
	$
	    393
	 
	 
	 

	Foreign exchange gains (losses), net
	  
	 
	(11
	)
	 
	 
	3
	 
	 
	 
	(9
	)
	 
	 

	Other, net
	  
	 
	(47
	)
	 
	 
	2
	 
	 
	 
	(185
	)
	 
	 

	 
	  
	
	

	Total
	  
	$
	38
	 
	 
	$
	192
	 
	 
	$
	199
	 
	 
	 

	 
	  
	
	


	 

	Consolidated Statements of IncomeVerizon Communications Inc. and Subsidiaries


 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	  
	 
	  
	(dollars in millions, except per share amounts)
	 
	 
	 

	Years Ended December 31,
	  
	 
	  
	2003
	 
	 
	2002
	 
	 
	2001
	 
	 
	 

	

	 
	 
	 
	 
	 
	 

	Operating Revenues
	  
	 
	  
	$
	  67,752
	 
	 
	$
	  67,304
	 
	 
	$
	  66,713
	 
	 
	 

	 
	 
	 
	 
	 
	 

	Operating Expenses
	  
	 
	  
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Cost of services and sales (exclusive of items shown below)
	  
	 
	  
	 
	21,783
	 
	 
	 
	19,911
	 
	 
	 
	20,538
	 
	 
	 

	Selling, general & administrative expense
	  
	 
	  
	 
	24,999
	 
	 
	 
	21,846
	 
	 
	 
	20,829
	 
	 
	 

	Depreciation and amortization expense
	  
	 
	  
	 
	13,617
	 
	 
	 
	13,290
	 
	 
	 
	13,523
	 
	 
	 

	Sales of businesses, net
	  
	 
	  
	 
	(141
	)
	 
	 
	(2,747
	)
	 
	 
	350
	 
	 
	 

	 
	  
	

	Total Operating Expenses
	  
	 
	  
	 
	60,258
	 
	 
	 
	52,300
	 
	 
	 
	55,240
	 
	 
	 

	 
	 
	 
	 
	 
	 

	Operating Income
	  
	 
	  
	 
	7,494
	 
	 
	 
	15,004
	 
	 
	 
	11,473
	 
	 
	 

	Equity in earnings (loss) of unconsolidated businesses
	  
	 
	  
	 
	1,278
	 
	 
	 
	(1,547
	)
	 
	 
	446
	 
	 
	 

	Income (loss) from other unconsolidated businesses
	  
	 
	  
	 
	331
	 
	 
	 
	(2,857
	)
	 
	 
	(5,486
	)
	 
	 

	Other income and (expense), net
	  
	 
	  
	 
	38
	 
	 
	 
	192
	 
	 
	 
	199
	 
	 
	 

	Interest expense
	  
	 
	  
	 
	(2,797
	)
	 
	 
	(3,130
	)
	 
	 
	(3,276
	)
	 
	 

	Minority interest
	  
	 
	  
	 
	(1,583
	)
	 
	 
	(1,404
	)
	 
	 
	(625
	)
	 
	 

	 
	  
	

	Income before provision for income taxes, discontinued operations and cumulative effect of accounting change
	  
	 
	  
	 
	4,761
	 
	 
	 
	6,258
	 
	 
	 
	2,731
	 
	 
	 

	Provision for income taxes
	  
	 
	  
	 
	(1,252
	)
	 
	 
	(1,597
	)
	 
	 
	(2,147
	)
	 
	 

	 
	  
	

	Income Before Discontinued Operations and Cumulative Effect of Accounting Change
	  
	 
	  
	 
	3,509
	 
	 
	 
	4,661
	 
	 
	 
	584
	 
	 
	 

	Discontinued Operations
	  
	 
	  
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Income (loss) from operations of Iusacell
	  
	 
	  
	 
	(957
	)
	 
	 
	(74
	)
	 
	 
	6
	 
	 
	 

	Income tax benefit (provision)
	  
	 
	  
	 
	22
	 
	 
	 
	(12
	)
	 
	 
	(19
	)
	 
	 

	 
	  
	

	Loss on discontinued operations, net of tax
	  
	 
	  
	 
	(935
	)
	 
	 
	(86
	)
	 
	 
	(13
	)
	 
	 

	Cumulative Effect of Accounting Change, Net of Tax
	  
	 
	  
	 
	503
	 
	 
	 
	(496
	)
	 
	 
	(182
	)
	 
	 

	 
	  
	

	Net Income
	  
	 
	  
	$
	3,077
	 
	 
	$
	4,079
	 
	 
	$
	389
	 
	 
	 

	 
	  
	

	 
	 
	 
	 
	 
	 

	Basic Earnings Per Common Share:
	  
	 
	  
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Income before discontinued operations and cumulative effect of accounting change
	  
	 
	  
	$
	1.27
	 
	 
	$
	1.71
	 
	 
	$
	.22
	 
	 
	 

	Loss on discontinued operations, net of tax
	  
	 
	  
	 
	(.34
	)
	 
	 
	(.03
	)
	 
	 
	–
	 
	 
	 

	Cumulative effect of accounting change, net of tax
	  
	 
	  
	 
	.18
	 
	 
	 
	(.18
	)
	 
	 
	(.07
	)
	 
	 

	 
	  
	

	Net Income(1)
	  
	 
	  
	$
	1.12
	 
	 
	$
	1.49
	 
	 
	$
	.14
	 
	 
	 

	 
	  
	

	Weighted-average shares outstanding (in millions)
	  
	 
	  
	 
	2,756
	 
	 
	 
	2,729
	 
	 
	 
	2,710
	 
	 
	 

	 
	  
	

	Diluted Earnings Per Common Share:
	  
	 
	  
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Income before discontinued operations and cumulative effect of accounting change
	  
	 
	  
	$
	1.27
	 
	 
	$
	1.70
	 
	 
	$
	.21
	 
	 
	 

	Loss on discontinued operations, net of tax
	  
	 
	  
	 
	(.34
	)
	 
	 
	(.03
	)
	 
	 
	–
	 
	 
	 

	Cumulative effect of accounting change, net of tax
	  
	 
	  
	 
	.18
	 
	 
	 
	(.18
	)
	 
	 
	(.07
	)
	 
	 

	 
	  
	

	Net Income(1)
	  
	 
	  
	$
	1.11
	 
	 
	$
	1.49
	 
	 
	$
	.14
	 
	 
	 

	 
	  
	

	Weighted-average shares outstanding (in millions)
	  
	 
	  
	 
	2,789
	 
	 
	 
	2,745
	 
	 
	 
	2,730
	 
	 
	 

	 
	  
	

	(1)
	Total per share amounts may not add due to rounding.


 

See Notes to Consolidated Financial Statements.

	 

	Consolidated Balance SheetsVerizon Communications Inc. and Subsidiaries


 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	  
	 
	  
	(dollars in millions, except per share amounts)
	 
	 
	 

	At December 31,
	  
	 
	  
	2003
	 
	 
	2002
	 
	 
	 

	

	Assets
	  
	 
	  
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Current assets
	  
	 
	  
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Cash and cash equivalents
	  
	 
	  
	$
	699
	 
	 
	$
	1,422
	 
	 
	 

	Short-term investments
	  
	 
	  
	 
	2,172
	 
	 
	 
	2,042
	 
	 
	 

	Accounts receivable, net of allowances of $2,387 and $2,771
	  
	 
	  
	 
	9,905
	 
	 
	 
	12,496
	 
	 
	 

	Inventories
	  
	 
	  
	 
	1,283
	 
	 
	 
	1,497
	 
	 
	 

	Assets of discontinued operations
	  
	 
	  
	 
	–
	 
	 
	 
	1,305
	 
	 
	 

	Prepaid expenses and other
	  
	 
	  
	 
	4,234
	 
	 
	 
	3,331
	 
	 
	 

	 
	  
	

	Total current assets
	  
	 
	  
	 
	18,293
	 
	 
	 
	22,093
	 
	 
	 

	 
	 
	 
	 
	 

	Plant, property and equipment
	  
	 
	  
	 
	180,975
	 
	 
	 
	176,838
	 
	 
	 

	Less accumulated depreciation
	  
	 
	  
	 
	105,659
	 
	 
	 
	103,080
	 
	 
	 

	 
	  
	

	 
	  
	 
	  
	 
	75,316
	 
	 
	 
	73,758
	 
	 
	 

	 
	  
	

	Investments in unconsolidated businesses
	  
	 
	  
	 
	5,789
	 
	 
	 
	4,986
	 
	 
	 

	Wireless licenses
	  
	 
	  
	 
	40,907
	 
	 
	 
	40,038
	 
	 
	 

	Goodwill
	  
	 
	  
	 
	1,389
	 
	 
	 
	1,339
	 
	 
	 

	Other intangible assets, net
	  
	 
	  
	 
	4,733
	 
	 
	 
	4,962
	 
	 
	 

	Other assets
	  
	 
	  
	 
	19,541
	 
	 
	 
	20,292
	 
	 
	 

	 
	  
	

	Total assets
	  
	 
	  
	$
	165,968
	 
	 
	$
	167,468
	 
	 
	 

	 
	  
	

	 
	 
	 
	 
	 

	Liabilities and Shareowners’ Investment
	  
	 
	  
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Current liabilities
	  
	 
	  
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Debt maturing within one year
	  
	 
	  
	$
	5,967
	 
	 
	$
	9,267
	 
	 
	 

	Accounts payable and accrued liabilities
	  
	 
	  
	 
	14,699
	 
	 
	 
	12,642
	 
	 
	 

	Liabilities of discontinued operations
	  
	 
	  
	 
	–
	 
	 
	 
	1,007
	 
	 
	 

	Other
	  
	 
	  
	 
	5,904
	 
	 
	 
	5,013
	 
	 
	 

	 
	  
	

	Total current liabilities
	  
	 
	  
	 
	26,570
	 
	 
	 
	27,929
	 
	 
	 

	 
	 
	 
	 
	 

	Long-term debt
	  
	 
	  
	 
	39,413
	 
	 
	 
	44,003
	 
	 
	 

	Employee benefit obligations
	  
	 
	  
	 
	16,759
	 
	 
	 
	15,389
	 
	 
	 

	Deferred income taxes
	  
	 
	  
	 
	21,708
	 
	 
	 
	19,467
	 
	 
	 

	Other liabilities
	  
	 
	  
	 
	3,704
	 
	 
	 
	4,007
	 
	 
	 

	 
	 
	 
	 
	 

	Minority interest
	  
	 
	  
	 
	24,348
	 
	 
	 
	24,057
	 
	 
	 

	 
	 
	 
	 
	 

	Shareowners’ investment
	  
	 
	  
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Series preferred stock ($.10 par value; none issued)
	  
	 
	  
	 
	–
	 
	 
	 
	–
	 
	 
	 

	Common stock ($.10 par value; 2,772,313,619 shares and 2,751,650,484 shares issued)
	  
	 
	  
	 
	277
	 
	 
	 
	275
	 
	 
	 

	Contributed capital
	  
	 
	  
	 
	25,363
	 
	 
	 
	24,685
	 
	 
	 

	Reinvested earnings
	  
	 
	  
	 
	9,409
	 
	 
	 
	10,536
	 
	 
	 

	Accumulated other comprehensive loss
	  
	 
	  
	 
	(1,250
	)
	 
	 
	(2,110
	)
	 
	 

	 
	  
	

	 
	  
	 
	  
	 
	33,799
	 
	 
	 
	33,386
	 
	 
	 

	Less common stock in treasury, at cost
	  
	 
	  
	 
	115
	 
	 
	 
	218
	 
	 
	 

	Less deferred compensation-employee stock ownership plans and other
	  
	 
	  
	 
	218
	 
	 
	 
	552
	 
	 
	 

	 
	  
	

	Total shareowners’ investment
	  
	 
	  
	 
	33,466
	 
	 
	 
	32,616
	 
	 
	 

	 
	  
	

	Total liabilities and shareowners’ investment
	  
	 
	  
	$
	165,968
	 
	 
	$
	167,468
	 
	 
	 

	 
	  
	


 

See Notes to Consolidated Financial Statements.

	 

	Consolidated Statements of Cash FlowsVerizon Communications Inc. and Subsidiaries


 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	  
	 
	  
	(dollars in millions)
	 
	 
	 

	Years Ended December 31,
	  
	 
	  
	2003
	 
	 
	2002
	 
	 
	2001
	 
	 
	 

	

	Cash Flows from Operating Activities
	  
	 
	  
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Income before discontinued operations and cumulative effect of accounting change
	  
	 
	  
	$
	3,509
	 
	 
	$
	4,661
	 
	 
	$
	584
	 
	 
	 

	Adjustments to reconcile income before discontinued operations and cumulative effect of accounting change to net cash provided by operating activities:
	  
	 
	  
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Depreciation and amortization expense
	  
	 
	  
	 
	13,617
	 
	 
	 
	13,290
	 
	 
	 
	13,523
	 
	 
	 

	Sales of businesses, net
	  
	 
	  
	 
	(141
	)
	 
	 
	(2,747
	)
	 
	 
	350
	 
	 
	 

	Employee retirement benefits
	  
	 
	  
	 
	3,048
	 
	 
	 
	(501
	)
	 
	 
	(1,327
	)
	 
	 

	Deferred income taxes
	  
	 
	  
	 
	826
	 
	 
	 
	1,704
	 
	 
	 
	1,084
	 
	 
	 

	Provision for uncollectible accounts
	  
	 
	  
	 
	1,803
	 
	 
	 
	2,899
	 
	 
	 
	1,940
	 
	 
	 

	(Income) loss from unconsolidated businesses
	  
	 
	  
	 
	(1,609
	)
	 
	 
	4,404
	 
	 
	 
	5,040
	 
	 
	 

	Changes in current assets and liabilities, net of effects from acquisition/disposition of businesses:
	  
	 
	  
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Accounts receivable
	  
	 
	  
	 
	(844
	)
	 
	 
	(1,001
	)
	 
	 
	(2,414
	)
	 
	 

	Inventories
	  
	 
	  
	 
	(65
	)
	 
	 
	450
	 
	 
	 
	(59
	)
	 
	 

	Other assets
	  
	 
	  
	 
	(8
	)
	 
	 
	405
	 
	 
	 
	(767
	)
	 
	 

	Accounts payable and accrued liabilities
	  
	 
	  
	 
	2,643
	 
	 
	 
	(1,435
	)
	 
	 
	573
	 
	 
	 

	Other, net
	  
	 
	  
	 
	(297
	)
	 
	 
	(30
	)
	 
	 
	999
	 
	 
	 

	 
	  
	

	Net cash provided by operating activities
	  
	 
	  
	 
	22,482
	 
	 
	 
	22,099
	 
	 
	 
	19,526
	 
	 
	 

	 
	  
	

	 
	 
	 
	 
	 
	 

	Cash Flows from Investing Activities
	  
	 
	  
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Capital expenditures (including capitalized software)
	  
	 
	  
	 
	(11,884
	)
	 
	 
	(13,061
	)
	 
	 
	(18,369
	)
	 
	 

	Acquisitions, net of cash acquired, and investments
	  
	 
	  
	 
	(1,162
	)
	 
	 
	(1,088
	)
	 
	 
	(3,072
	)
	 
	 

	Proceeds from disposition of businesses
	  
	 
	  
	 
	229
	 
	 
	 
	4,638
	 
	 
	 
	415
	 
	 
	 

	Proceeds from spectrum payment refund
	  
	 
	  
	 
	–
	 
	 
	 
	1,740
	 
	 
	 
	–
	 
	 
	 

	Purchases of short-term investments
	  
	 
	  
	 
	(1,887
	)
	 
	 
	(2,073
	)
	 
	 
	(1,928
	)
	 
	 

	Proceeds from sale of short-term investments
	  
	 
	  
	 
	1,767
	 
	 
	 
	1,857
	 
	 
	 
	1,546
	 
	 
	 

	Other, net
	  
	 
	  
	 
	691
	 
	 
	 
	1,187
	 
	 
	 
	84
	 
	 
	 

	 
	  
	

	Net cash used in investing activities
	  
	 
	  
	 
	(12,246
	)
	 
	 
	(6,800
	)
	 
	 
	(21,324
	)
	 
	 

	 
	  
	

	 
	 
	 
	 
	 
	 

	Cash Flows from Financing Activities
	  
	 
	  
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Proceeds from long-term borrowings
	  
	 
	  
	 
	4,653
	 
	 
	 
	7,820
	 
	 
	 
	13,870
	 
	 
	 

	Repayments of long-term borrowings and capital lease obligations
	  
	 
	  
	 
	(10,759
	)
	 
	 
	(8,391
	)
	 
	 
	(7,293
	)
	 
	 

	Decrease in short-term obligations, excluding current maturities
	  
	 
	  
	 
	(1,330
	)
	 
	 
	(11,024
	)
	 
	 
	(546
	)
	 
	 

	Dividends paid
	  
	 
	  
	 
	(4,239
	)
	 
	 
	(4,200
	)
	 
	 
	(4,168
	)
	 
	 

	Proceeds from sale of common stock
	  
	 
	  
	 
	839
	 
	 
	 
	915
	 
	 
	 
	501
	 
	 
	 

	Other, net
	  
	 
	  
	 
	(123
	)
	 
	 
	71
	 
	 
	 
	(391
	)
	 
	 

	 
	  
	

	Net cash provided by (used in) financing activities
	  
	 
	  
	 
	(10,959
	)
	 
	 
	(14,809
	)
	 
	 
	1,973
	 
	 
	 

	 
	  
	

	 
	 
	 
	 
	 
	 

	Increase (decrease) in cash and cash equivalents
	  
	 
	  
	 
	(723
	)
	 
	 
	490
	 
	 
	 
	175
	 
	 
	 

	Cash and cash equivalents, beginning of year
	  
	 
	  
	 
	1,422
	 
	 
	 
	932
	 
	 
	 
	757
	 
	 
	 

	 
	  
	

	Cash and cash equivalents, end of year
	  
	 
	  
	$
	699
	 
	 
	$
	1,422
	 
	 
	$
	932
	 
	 
	 

	 
	  
	


 

See Notes to Consolidated Financial Statements.
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